[ #FERoHS |

PNEUMATIC HOLD DOWN TOGGLE CLAMPS 6820K

T REZFE6820K )

(ERONS AMEQD)

No.E-9749

S5400
O R AW BRI SHELHITENE.

EEEE B

BR~TE
BE A B C D E F G  H oy K L
6820K-0 4 31 135 = 45 16 10 23 20 70 -1~ 6 8 5.0
6820K-1 5 38 160 @ 45 19 14 24 23 85 0~5: 10 6.0
6820K-2 6 51 200 | 54 27 20 27 27 105 1~ 8 12 6.0
6820K-3 8 80 200 @ 7.1 38 27 32 40 155  8~17 18 7.5
ne M N ¢} P Q R EREERE A S
6820K-0 - 40 M 4X0.7 GEF 10 33 4 FESTO#l PU-3 (HMfZ@3. ME@43)
6820K-1 - 45 M 6X1.0 GEH = 12 34 6 FESTO#l PU-4 (H#Z@4. 4ME@6.2)
6820K-2 12.5 56 M 8X125 (f8%P) 13 44 8 FESTO#l PU-4 (24 5MZ@6.2)
6820K-3 - 76 M10X125 (B%F) @ 16 50 10  FESTO# PU-4 (HfZ@4. 5MZ@6.2)
Loy
e | we | R S e e soos xm
992362 6820K-0 05 @ 0.7 007 009 004 M4X0.7 x25 40 165%45 0.25
992363 6820K-1 08 1.1 013 0.18 006 M5%X0.8 xX30 40 186X50 0.4
992364 6820K-2 1.0 © 1.2 035 050 0.17 ‘M6x1.0 X35 40 220%64 06
992365 6820K-3 1.4 ¢ 25 055 1.00: 030 M8X1.25%x45: 50 290x84 0.8
KA HESES0.6MPaR A,

AIEER THCADHIE. HITEFEIMA.

(HEEL ) = o o oo o ISR EF Sk 3

BT O

KT RFHMY



